5 +D55A

BF er— %
FE 1M 1 2 3 4 BEE (& — L " F—LA| BHL
s =
LH =F% 64 HHKE
e 63 | 62 | 63 | 3-0 1
HE OBA 58 {FKE
% Fx 60 EE#R
2 ~® 36 60 | 65 | 2-1 2
HE S 55 ERER
AN mE 61 wog
3 2778 B 26 | 06 63 | 1-2 3
R B 59 {EBE
A RX 61 EER
4 36 56 36 0-3 4
EFE A— 59  IHERFF
B1F oH— B1F
Fi#E24A 5 6 7 8 BEER | — L L% F—L| lERL
ol %
EA &= 58 EER
5 #H & o 65 61 26 2-1 1
R i 56  KBRFF
O 60 LBE
e BER | 56 63 | 65 | 2-1 2
Kl &= 59 LBE
AH RER 59 FER
7 |7 16 | 36 63 | 1-2 3
T& Bt 57 FEE
FEH R 55  RELE
g | 62 | 56 | 36 1-2 4
RR WM& 55 S
XIBEGLIFEEIBRDOIERICLS
% P %
FE3M 9 10 11 12 | B (' —L4 L8 F—I| IBLL
o %
KE 88 59 fEEE
9 60 65 63 3-0 1
it =t 59 {EBR
AR AA 62 B
0 - =1 06 56 | 16 | 0-3 4
BH Fz 56  EE#L
BHF B 63 BEE
11 56 65 63 | 2-1 2
-7 NS 58 BEE
BE CE 55 LBE
12 - 36 | 61 | 36 1-2 3
2k 55 [LBE
W8 [, | WS
FiEAM 13 14 15 16 | BB (7'—AL Logh F—LI| JEHL
% =
£ R 59  R#AF
13 = = 62 | 63 | 46 | 2-1 2
=% BHE 57 EER
&5 EE 55 MEJIIR
1a 77 26 56 | 56 | 0-3 4
HH BE 55 MEJIIR
e BE 64  EE#R
15 N 36 65 16 | 1-2 3
J\B 8k 55  BRE#D
hi KA 61 pabal=)
16 i ~ 64 | 65 | 61 3-0 1
ZH XE 58 =HEE
@ RBR—F A
! L£H =F% 64 HFARE
HE OBA 58 HHEAKRE S HE
) R kA 61 EBHE 60
ZH XE 58 Z=ZEE f3::
3 RE 88 59 MR 62
Eih Rt 59 {kBR =R
. EH &= 58 EER 65
R i 56  KERFF




